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2. Attempt any five questions from the given options.

3. All questions carry equal marks.

4. Use of simple Calculator is allowed.

5. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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(a) The return (%) on securities X and Y under

different situations are as follows :

State
market

of
Possibililv of Occurrence

Possible Retums

x
Bear 0.2 12 t0

Normal 0.1 2t) l6

Bull 0.5 30 25

(i) Find return and risk associated with both

the securities.

(ii) Which security should an investor choose

and why?
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7. (a) What are the different types of issues in the

Primary market. Elaborate on any three of such

types of issue. (8)

(b) Write short notes on the following : (2.5x4)

(i) Expense Ratio

(ii) Offer for Sale (OFS)

(iii) Commodity Derivatives

(iv) CRISIL Ranking

(o) mzrF-o qrmn t frF-q rnR + I? wr ?? rs r6'R

+ ffii fi-q Si c{ fr<an t qqt dfrqt

(re) frqfttu( qr qlSR ctq frfr{s,

2

2 ftq rq ft-rflt' + t ffi frq qr+ 6r vf,r Aftq r
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6. (a) Distinguish between Bond and Equity as investment

alternatives (5)

(b) Define risk. Distinguish between Systematic and

Unsystematic risk. (ft)

(c) What is Exit Load? How does it affect return to

the investors? (s)

(a) friu ft-o-rn- + sc i iit€ qlr Effi + A-q a.di

Ein{q I

(e) ulRm + qffid frhqr qqRem Bilr 3rqs'Rn

*Rc A ftq sta( qnrgqr

(rr) vtrrc ats wr *l q6 ftarFir- 6) a+sre drq d ++
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(iii) AIso calculate Tax adjusted return if
the tax rate during the year is 30%.

(8)

(b) Differentiate between Investment and Speculation.

(s)

(c) What is Beta? How does it impact the investment

decision of an investor? (5)

(q) vw ofu sri etu$d qt frft-q R{frqt- + dnr (%)

ffqgsR l:

dlyIR?1
Rrft

sEf,Ai+f
{qrir{I

€qrft-dM
\rfiI EIi

ft{rrc 0.2 t2 l0

{Iqfq 20 l6

a-s 0.5 l0 25

(i) ffi etu$+ + g} -nr .fu *Rsc 6T qil
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(ii) frfr tt ffar6 d 6t{ff ctutR 3-{S q'Es

3fu @t'?

(iii) qR s{ A rl<rt qr 6 s( go cfr{r< I i qt

tqr+fu(ffidlftrrqmdfuq?

(e) fiar ifu {N + A-q u-dt s-ilEc?

(") *a wr *? ra ffi frAvrs + fra$ Fr"tu + +t
yqrFr otar t?

(a) What do you mean by company analysis? Explain

the main factors necessary to analyse the overall

performance of a company. (8)

(b) Calculate E,PS and PE ratio : (4)

Particulals
Amount
Rupees)

(in

Sales Revenue 1,50.00,000

(o') ft-tq tfttEe @r *? yi.{€ ft q+t 6i{rc + A-s

3riR Edr{gr

(tq) rncfie crfe-q{qr t d6- q-trffi * ttfr'or cr s-{t

frfrql

(a) What are the limitations of Technical Analysis?

(8)

(b) Write short notes on the following (10)

(i) Moving Average Analysis

(ii) Candtestick Chart

(q) <-o.'+A ffisrr d ffi wr i?

(w) ffitur vt tfd< +< frtus

(i) $.r (+m ffiqq

94 2207

5

2

50.00,000tal divided into shares of Rs l0Equitv share capi
ll0Current Market P ce

Net Profi1 after ta'( 50 00 000
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s'-cfl: us cfr{rf, Bi( eo eft{rf, qt vg-d frq rrq

Sr fiq fr*sr gq{s rR vqa frv qs *r a6 crc+

Es fr s{ + <tlr cRsTd-{ trn qc soo,ooo 6q+

qT yfr Eq'r€ ga qRsqft {fl (v{q"ff) ara qir

qE reiffi Es + s{ A rtm ro.o cfr qfi-.

dTtrrr ffifr Bqr e + $-c urcd d v{'ff 6T qnT

dftsr

(re) ruoio F6 + aFi qt qqi dfuqr

(rr) q-qR{d fraar +sil (ww{+) q-qRrd ffi A-drT

(wsqtl * ftr ron ft-q ], qqsrsql

(a) What are financial derivatives? Distinguish between

Forward and Future Contracts. (10)

(b) Discuss the role of Stock Exchanges in the Indian

Economy. (8)

(c) What is PEG (Price Earning growth) ratio and

how to interpret it. How does PEG ratio overcome

the limitations of PE (Price Earning) ratio. What

are the limitations of PEG ratio. (6)

(o.) o.q+ Msur t 3rFr.Fr terr ilfl{ t? fufr 6ffi +
q+l qr{hqre+ or Nsq 6{+ + frq BnEqq-6 lrq
qT(+l d qrcqr dfrqr

(la) cfr ien snq ({fr\l() irk (ara d gar*i T€) fr{

q$rd + rrunr dftg:

Ff,{q nRI c6qdB

fraff rrqe 1.50_00,000

otS.ror+3'engrmt 50.00.000

ro tqt & ffi fr BrnfurERA *qr TS I 50,00,000

Td:rra qrqnTd 80

(r) ft{-S ({€ slTc EA) u-gcm wr * *t qc+1 qrcqr

fr's r-6R d urfr il fttft agn' ftr x-+n frS (5v

3rq) a-lqrd q1 ffcrst qiJ qr an<r il ffiff qvre

+ ff wr-€r l?
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3 (a) A mutual fund mdkes an issue of 20,00,000 units

of {10 each on l"r January, 2023. No entry load

was charged. It made the following investments:

(8)

1.00,000 shares of{ 100 each !! {!L t.50,00.000
7Yn Golemment Securilies r0.00"000

9% Debentures(unlisled) 7.00,000

I0% Debenlures(lisled) 7.00,000

Total 1.74.00,000

During the year, dividends of {25,00,000 were

received on equity shares. Interest on all types of

debt securities was received as and when due.

At the end of the year equity shares and l0o/o

debentures are quoted al 175Vo atd 90ok

respectively. Other investments are quoted at

par. Find out the Net Asset Value (NAV) per

unit, given that the operating expenses during

the year amounted to {800,000. Also find out

the NAV, if the mutual fund had distributed a

dividend of {0.8 per unit during the year to the

unit holders.

(b) Discuss the advantages of mutual funds. (5)

(c) Explain how Systematic Investment Plan (SIP)

is different from Systematic Withdrawal plan

(swP). (5)

(u') ot{ relscl so-s vtst, zozs + e-&-6 * ro w}

Ter d eo,oo,ooo lo.rd 6l frit{ Rrt o.rei *r Es}

+{ rft carr ge. +& ftqr rrqr qrr eti ffiR'fi
ff+{r frq:

106 5qiq & r,00,666$qt 156Fqtfr1 t,50,00.000

, 16* *.6ffiqfrlifrsf t0,00.000

e qftqrd B{t (sr{fl-{e) 7,00.000

rosfr{HEa'{tqfi{d) 7.00.000

gif, 1.74.00,000

s{ + qtm, Effi H qt {2s,oo,ooo 6r drrrrvr cr<

Esnr (aft q-6R * Eqr cfo{Rr+ qr fu ftf,} qr qrq

yrR 
EBril !'{ + 3i-{ + Effi tqr d{ l0 vftrrf, Edqr
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